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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-11_0
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P3-11

EER € (180. 0) 574 (130. 0) R FF

ZRIASCPRIERES3. 0 ml.

AriE) | BRI (FD) | EHE (EH/HK) | XK SRR

06:45 180 60. 0 R RR1%@06:45 (R FHIERLEE)
07:20 180 60. 0 (5 {RR1%@07:20 (K FERLES)
07:55 180 60.0 5 B31%@07:55 (KRFERHE)
09:00 180 60. 0 A iR1%@09:00 (R FHIERLEE)
09:45 180 60. 0 5 BRi%@09:45 (KRF1EREE)
10:25 180 60.0 5 B21%8@10:25 (KREERE)
11:05 180 60.0 5 Bige11:05 (RREERSE)
11:45 180 60. 0 5 Big011:45 (REERE)
12:20 180 60.0 R Bi%012:20 (KRFERE)
12:50 180 60.0 5 Bi%@12:50 (RRAERSR)
13:25 180 60.0 R B21%013:25 (RFERE)
14:00 180 60. 0 i RRi%@14:00 (K BERKS)
14:35 180 60.0 [ Bi%@14:35 (RRAERE)
15:15 180 60.0 RS Bi%015:15 CREERE)
16:00 180 60. 0 R ’R1%@16:00 (KPHIERLEE)
=31 2700.0 (15)%) 900. 0 3233 %EC: 1560.0, PH: 5.8

FATREH T % ME#ER S Z XER




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-11_0, Day=3 (2025-04-05)
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m=485, FV0=0 m=575, FV0=0 m=630, FV0=0

— NE 16. 70 - o INE 16. 70 - o NE 16. 70 - o NE
16. 65 - 16. 65 - 16. 65 -
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P3-11

BriE) | EBIATK (FD) | EHE (EH/HK) | XK R

08:40 210 60.0 |Z= ’R1%@08:40 (KAL)
09:20 210 60.0 ] B21£@09:20 (KRFEREE)
10:05 210 60.0 1] BRi%@10:05 (KBfEREE)
10:45 210 60.0 ] Bi%@10:45 (KRRERE)
11:30 210 60.0 A RRi%e11:30 (K FHERKS)
12:20 210 60.0 1] BRige12:20 (kBHEREE)
13:20 210 60.0 1] RRi%@13:20 (K BERKS)
14:15 210 60.0 |Z= BRi&e14:15 (K BHEKSE)
14:55 210 60.0 (&= Bi&e14:55 (RF1EREE)
15:35 210 60.0 |Z=& BRi&@15:35 (kRPB{EREE)
21t 2100.0 (10)%) 600. 0 3 KEC: 1560.0, PH: 5.6

ORFEBRETC (210. 0) 5Fi#A (120. 0) A4,

ZRIASLPRIERE105.0 ml.

[E;&EC 2790.0 K5, ZEiLHBIKECAEZ hitRR

FEIKRECE (2120.0 vs 2790.0) R

FATREH T % ME#ER S Z XER




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-11_0, Day=2 (2025-04-04)
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m=485, FV0=0 m=575, FV0=0 m=630, FV0=0

16.7 - o— me | 1687 o— me | 1687 — NE
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